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QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against 1it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/Illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself. |

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.

SDF-U-ECON/4 1 (P.T.O.


https://prepp.in/

Www.prepp.in prepp

Your Personal Exams Guide

Yug—A [/ SECTION—A

1. fr=afafiaa 4 8 s wva =7 3R A 150 Tisgl | I

Answer the following questions in about 150 words each 10x35=50

(a) vty F 3Eid dE BeE Cly) = y© +1 8, T@I y 30984 2| Widad gid 9% rad iy
Hr Tz TF gfd 9% Fd f@rs <dn g

Under competition, the cost function is given as C(y) = y2 +1, where y is output.

Derive the inverse supply curve and show how the supply curve looks like.

(b) UHIUSRR AR & A F9-T1 FaF F1gq fasg # =il w1 fHaiid s 27

What determines the degree of price discrimination under monopoly market?

(c) watamm o 1 F1 A} CFEA e hG YR HEg Fd1 87

How does ‘carbon trading’ help in reducing environment degradation?

(d) FotdodoTlo TR WA T Fasheh 1 Uftered ey fFa st 27 1 fafw= gaasl
v ford A 1 3ow g fafy 71 @dl 27

How is Human Development Index calculated by UNDP? Can there be a better
method of assigning weights to various indicators?

(e) 150 T @id Figard) dfga 4, W N wEr = | JUen & TR ¥ wed dqicia w9 why
ERIRISERGINE

Show that in a simple Keynesian model, equal expansion 1n tax and
covernment expenditure does not always lead to balanced budget theorem.

2. (a) FEH FH FE FEEA F AT F AW A et 2| foawawm Fris

‘Tragedy of the commons’ leads to over-exploitation of resources. Analyze. 15

(b) uF egaren & fau fm=afafas ge e s 2

3T B, C=250+0-5(Y - T) -500r

e %@, =250 - 5007

AT g5 /91 FeA, L / P=0-5Y - 5007

f9a 9z1 914, M = 7650

IHd T, P=17

=T =HFKHIg = G = 200

TRl Y = aredias 3E, r = aRdaids oOe R, L = 9 g5 w5, P = S w6
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(c)

(b)

(c)

(i) IS 3N LM &1 & fou gt 71d Fifse 2t Y ua r &1 gd fsmifeu

(i) g 9id giEa % Tau s I 19 FIfSe 3 39F 918 3R g3 9fd § 9iEdq 510
g B, d I 8 gfwdq = gimes Hifso)

The following data are given for an economy :

Consumption function, C=250+0-5(Y -T)-500r

Investment function, [ =250 -500r

Real money demand function, L /P =0-3Y —-500r

Nominal money supply, M =7650

Price level, P=17

Tax = T = Government expenditure = G = 200

Here Y = Real income, r = Real rate of interest, L. = Nominal money

demand, P = Price level.
(i} Find the equations for IS and LM curves, and solve for Y and r.

i) Find out the multiplier formula for money supply change and then
calculate the change in output if money supply changes by 510. 7+8=15

ey =y W e, fwmiia 29 & fawm ° fFE vom arem == 94 8¢

How can controls on foreign trade contribute to the development of developing
countries? 20

T AAGHA W B AGE Frn S R, a9 I8 ) 3 g 9rel o9 qfd 9% @ I 0 A
S 3 yiqeyTaq wyg 1 i o 2 2 | 9 3T H1End 'Y

The role of income and substitution effect is crucial in producing backward
bending labour supply curve when a tax 1s imposed on wages. Do you agree? 13

qui 4sft wrfesficrar = w1ec) #, @1 afors A ) ey Ea e gEd T s
0z qfd ° Fhg & folodio T M dlci W1d | 37 I w98 FHIf

In case of perfect capital mobility, explain the difference of the impact of
an increase in money supply on GDP under two alternative exchange rate
regimes—one fixed and the other tlexible. 1.5

o wieRfiTar SR Sl qaaT # THHEIes Taaiirdn 9 |16 & AcdHid 3 dHre 291
T argsId R G 3P 9 e gs R 370 fa=ar g it

Reflect on the inefficiency and socially undesirable aspects of monopolistic
competition market situation vis-a-vis the perfect competition, both in the

short and 1n the long run. 20
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(D)

(c)

fg-afierr oiea A srgarft &t 0 goe 2l 2 3 ¥ smofl Y wmeEn W Ty yEn fuw
g &7

What 1s the follower’s problem in a duopoly model and how does 1t differ {from
the leader’s problem?

#7 greasts-fsh agert, Nfds anafe 9= & &3 3 gy 9 8 1 F1 gadl 87

Can public-private partnership function effectively in the area of physical
infrastructure?

g ®A-4 Auasm g, T T anwi vE 78 = famfe | i e s R, 9 g
foafat & groe w9 @ fim @ 27

What are the features based on which the new trade theories are built that are
distinctly different from the old theories?

@JUis—B / SECTION—B

5. T=fafEd 0 9 g8 Yvd &1 39 YT 150 wise] H A9

Answer the following questions in about 150 words each :

(a)

(D)

(ci)

(e)

wp #ifsu £ aft vds WA 9O g R sEEd B Sm s wmy-d-|y dE8 F g
MERF AT F ST FTAq TFal AR 1 ™, A JZ O T TEE] TRE e YeTE 92T

Explain how money multiplier will be affected if there happens to be partial

hoarding by public in each round as well as excess cash reserve holding by
banks over the minimum required.

o mrgEl @ $ieta F gfmm e = fem ot o @01« e’ w5 S v ? e i)

In what sense is Friedman’s quantity theory said to be a ‘restatement’ of
Fisher's theorv? Explain.

Y21 28 T ) W F % {9 F9-31 9 W] F1 98 w1 98

What criteria will have to be satisfied to obtain a Pareto efficient allocation?

o S @ fo wntera fetrfeel, wshg I=meeqt ot diga) & 8 w3 8, iR $ " o
£, I 37 fediemten & wma # g 2 7| faverwm Hifsm)

Automatic stabilizers are supposed to mitigate cyclical fluctuations, but there
exist limitations which dampen the effect of these stabilizers. Analyze.

A guiy-srdvmsig ifq gn=g & g |1-2=01 il 27 =991 e

What are the obstacles to international macro-economic policy coordination?
[Discuss.
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6.

7.

8.

(a) HOA Ggad, ATl Ggaq | E TR 19 27

How is the Marshallian equilibrium different from Walrasian equilibrium?

(b) Tt Wi % I yerEwEd Aficgeil W ==l A,  sgaaE o e ey e
Bl Bl B
Discuss the essential features of the growth models which incorporate research
and development.

(c) AEFAE GER T A 2 TG & GRS gfEdd & e w1 dgan A8 R @ el R
FATRY

In the contemporary world, many countries are not following Kuznets' pattern
of structural change. Give reasons.

(q) GFWIEHF THAH Yok H GHeud] FRE HR A 92 39 W AT © A {6 SR <m w? we

T |

In what way does the concept of a positive optimal tariff apply to only large
countries and not to small countries? Explain,

by Z F Fon Armard) w9, Sted R figard o i F50 FFeraal 3 @ UF #| IWE A
i ELY

Keynesian demand for money is one of the key concepts of Keynesian theory ot

unemployment. Illustrate.

(c) & wwO¥E TEw, guE g9fg % 3w F fG%a FEHal 87 W0 I F 98 0 FRO T
EAEI]
Can multinational investment defeat the objective of inclusive growth? Give
reasons for your answer.

(@) W fifa, sewwe 0 oft, e Fro feea 2 S 87 we St

What makes monetary policy ineffective even in the short run? Explain.

(b) =AM TIfg-IaTaE @1 wIfg-FOuF B wea 21 wrafud ot i g | a9 ik

Trade can be growth-promoting or growth-inhibiting. Argue in terms of the
established theones.

() F A Tm fakaa % Fn-Fn FEN 27 WA qerdal whl duad F F JER w6
TFAl B

What are the causes of market failure in agriculture? How may government
intervention mitigate this?
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